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So far

* Thanks to Benjamin, the problem of the bump around
pedestal distribution was solved.

« When a baseline of each event is calculated, he used a Gaussian fit
for a adc histogram.
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Monitor

number of events

number of events

10

107

10°

10

10°

107

107

10

PMT (L

charge hist. ch1 ( -1200 HV 20180928 run=315)

chargeHist ch1 0 0

Entries

Mean
Std Dev

110250
0.005998
0.06023

Iab Ilght on

|n September

1 1.5
charge [e x 107 C]

charge hist. ch1 ( 1200 HV 20181113 run=456)

chargeHist ch1 0 0

Entries

Mean

180504
-0.003866

Std Dev

0.08351

| Iab Ilght on
__________________________________ ________ i Novernber _____________

B ] Hﬂ _______ S S —

-0.5 0 0.5 1 1.5

2
charge [e x 107 C]

D Off)

number of events

number of events

10*

10°

10°

10

10

10°

10°

10

charge hist. ch1 ( 1200 HV 20181112 run=450)

chargeHist ch1 0 0

Entries

Mean
Std Dev

98826
-0.01072
0.0568

Iab Ilght off

..................................................................................................................................................................................

charge [e x 107 C]
charge hist. ch0 ( 1200 HV 20181112 run=452)

0.5 1 1.5 2

chargeHist ch0O 0 O

98709
—-0.01561
0.06194

Entries
Mean
Std Dev

I IIIIIII!
LA T
c'
Ea
ﬁ
e
TR

chO recelved

I\/Ionltor PI\/IT out

charge [e x 107 C]

0.5 1 1 5 2

put



To do
1. Stability of Monitor PMT (or LED)

« Leave Monitor HV on all night.
« Look for the stable region of the mean.

2. Stability of 3"PMT

« Look for the stable region of Poisson mean.

3. Make TTS plots:

 number of p.e. vs. TTS
 and fit with the function: y = parameter / /x

4. Confirm whether after-pulses are included, or not.

 enlarge the time window of each event, and check the time histogram.




